(2]

Qus-1
Section-1

(3T =t yreg-dr- 30, 3FEH-02)

-1

1

TS fufran it @ Fa1 e 2 g9 qeE a9 &2

What is meant by rate of a chemical reaction? What is its unit?

fagurqd 0 ¥ 2 daet wd wi@ w1 gued fafau

What are alloys? Write the composition of Brass and Bronze.
Tt grenaten td g feris # gffid Bl

Define chemical equilibrium and equilibrium constant.

tﬁﬂ{ﬁaﬂtmﬁw%a}aﬁa’uﬁvﬁu@ﬁaﬂml

Define relation between focal length and radius of curvature.

fafere gfediy =l 9Ifad & a1 S HH-HH J § 2

What are the factors influencing specific resistance?

PN fy s@e #1 IyAfE fafey |

Write the applications of PN junction diode.

11. 9FE TR § R ¥ F-Fn w1 €2

What are the functions of blood in human body?

14. o § @l @ w1 IR 9 g € ?

How minerals are transported in plants?
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WiT-2

9 12 18 21
10° 25°35° 20 ' TRUM ¥HNedE (W.H.) F@ Hitww (2]
Find Highest Common Factor (HCF) of i, E,E, 2.
10 25 35 40
b _
afe = =025 &, @ 2970, 2 & qm 9@ = 2]
a 2a+b 9
b il
If —=0.25, then find the value of g~ +—2-.
a 2a+b 9
2 3
g x=23Ry="3F QX -V i qn 3@ Ffaw [2]
xX+y
2 3
If x =2 and y = -3, then find the value of > — 2%V
x+y

3 A, 7 e 3R 2 il el areft 2 ¥ 5 Gthe e T ot wifgesdn

J1d i | (2]
Find the probability of drawing 5 white balls from a basket having

3 red, 7 white and 2 blue balls.

A, B3 C Th & & w0 4 69, 5 fed qun 10 fe7 o wora v W

¥ gfe A7 feex 39 & & B, A fhad e § g s ghm1 2 2]
A can do a work in 4 days, B in 5 days and C in 10 days. Find the time

taken by 4, B and C to do the work together.

e o gE—Fifaem & & Y, 98 x 96 3R Wa IW H = sfisiiew
g [2)
Solve 98 x 96 using Vedic Mathematics Sutra—Nikhilam and check the

answer by Bijank.
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HT-3

1. X T RAM 71 2?2 2
What is RAM in computers?

2. HR % = =R & F T fafay, fed s w1 svdm fe s & 2]
Write the names of any four fields of communication in which computer is
used.

3. I Wt A emw wm gwen ¥ 2]

What do you understand by information technology?

5. Tfvdla Ruwed & ool fr sfufeael & sro 3= 26 22 Fa9 91
fafau) (2]

What are the reactions due to which energy is released in nuclear reactors?

Write name only.

6. 3-Toz wa wag-fag wrem =t gftum s (2]

Define in-situ and ex-situ conservation.

7. WRdaY & fh=l IR Ja-drifas &= & 9w fafau 2]

Write the names of any four bio-geographical regions of India.

8. 1 YUY & HRU EM A Th AT FfHd q¢1 T Weien St A ue
3% WTSHehl & M fafa 2]
Write the names of a bacterial and a protozoan disease caused due to

water pollution. Also write the names of their causal organisms.

9. Wﬁ%ﬁaﬁﬁwaﬁﬁﬁaﬂmmwﬁﬁ%mm| 2]

Write the names of any four important hot spots of biodiversity of India.




[5]
Qs -2
Section-2

(I F yreg-HHI- 60, AFH-04)

wrT-1

4.

12,

15.

16.

e aTqOTStE @1 7 UAEA Ud HOTEA! SYEISh] 1 TH-TH I
3| sureiEl @ EE ¥ Yo F A S ?
What are synthetic detergents? Give one example each of cationic and

anionic detergents. Why detergents are considered better than soaps?

fretifa fam & fag 4 oir fag B % o9 &1 gea Afady 9@ HIT
Find the equivalent resistance between point 4 and point B in the following

figure :
8 Q

VWA

a0 | 8@

8 Q

8 Q

T & =A@ % T S FH-hH | ¥ 7

What are the major components of human digestive system?

Y-SR o 2 @ WEhA % WHE UE 1 § 2
What is photosynthesis? What are the main steps of this process?

Fm af o @ o9 F1 GO ¢ 2 Him adt ust % fafw= awifwa
Far § fafaw)

What do you understand by Artificial Vegetative Reproduction? Write

down about various techniques of Artificial Vegetative Reproduction.
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aT-2
;. ft GEAS F 30 TSI F iz 11 A 4 B 2 0 I o ¢y
p# @ 79 B FA A s fire wmd ¥ 1 0 F 6 B Fem 1 fife
forrt @ H A 60 TS fiz Fxar &1
A can print 30 pages of a document in 2 hours and B takes 5 minutes to printa

page. How many pages B will print in the time 4 prints 60 pages?

8. m%mﬁﬁmﬁzﬁwﬁ%ﬁ@zsmﬁmﬁaﬂim@
aﬁmaﬁﬁwﬁaﬁmﬁmmﬁeﬁssﬁﬂzm%lmﬁvﬁm

HIFIT |
Bhavya rows a distance of 2 km down the stream in 25 minutes and he

takes 35 minutes to cover the same distance upstream. Find the speed of
the Stream.

9, mwwﬁﬁ@mwmmmmuaﬁa@ﬁ%mﬁ 135° Ta
g a1 e T8 FE T2 R 9w wi o e % fo aet ) fanda
feen @ gear 8, 1 @Ay 9w few w0 4 g
Rishabh was facing the Zoo initially. He turned through 135° clockwise,
where is he facing now? Then he turns in anticlockwise direction to face

the Garden, what angle did he turn through?

N
NE
NY¥ Park
Garden Book Store
W Airport Rishabh Zoo E
Bus Stand Railway
SW Club SE

S

4

[4]
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-3

4.

10.

11.

12.

13.

WﬁROMw%?SHﬁ%HWaﬁm(ﬁrhﬂ)ﬁﬁ%?m ”

What is ROM in computers? What type of memory does it contain? What

is its importance?

yraad & foed AT FO I 9R AfuEE S 996 & T fafaal

Write the names of four electricity-generating nuclear power plants

(4]

of India.

Sg-fafaydr 9« e ¥ 39 T guem € 2 fR &9 F So-fafaydr
Td d 81 F fau @ wEefan (qreue) FH-FH | § 2

What do you mean by hot spots of biodiversity? What are the two criteria

(4]

for any area to be a hot spot of biodiversity?

T ITH e AYEARvg § o fafau [4]

Write the differences between National Park and Sanctuary.

CNG &1 & ? 39 Hed &l g9aRu | (4]
What is CNG? Explain its importance.

Qus -3
Section-3
( I HT VIE-HUT- 100, 3iH-08 )

MTT- |

S

‘-"""‘---___

Vet @ & 2 firré aifysda®, C,HMgBr &1 STl & gu wiafie,
fodas ws it Yeepielel & fmion &t wemafe sifufwand fod (8]

What are alcohols? Write chemical reactions for the preparation of

Primary, secondary and tertiary alcohols using Grignard’s reagent,

CzH SMgB T.

CT-04
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10, - ¥ R T dw ) w3 ¥ 2wy
Her ¥ HI & TR
How photoelectric effect is the basis for working of Solar Cell? Explaip
Draw the structure of Solar Cell.

13, T TR HT TE H G S e 6 FgE S H fawifna i
Td 1 A a3 Bt ¥ HQ Geifud 7
Draw the structure of spinal cord of human body and label its major
components. How human nervous system is related to spinal cord?

&

t)

9T - 2
10. 9Et T T 45,000 H FEY & F FEEE JRN fFA1 3 AR SR
T 60,000 I Yoft % Wiy HfTe 39 AR § TEGR & T AR 6 HEH F
g A € 90,000 ST F WY W AR H FHSR §F T 96 F g
T T16,500 & o H ¥ Y& & fohan e ? g
Minakshi started a business investing I 45,000. After 3 months, Anil |
joined her with a capital of ¥ 60,000 and after another 6 months, Sunil
joined them with a capital of ¥ 90,000. At the end of the year, they made
a profit of ¥ 16,500. Find the share of each.

11. 600 .. =t om0 § 99 7fa &1 &4, s ufa = | F) A= 3 W w5y
g oxdt € 1 afg o vfa & o7 Y 1fa a9 29 #F vfa *w ean 10 fEy

W1 w9 8, 1 gl &7 &I fd @ SIS i

A fast train takes 3 hours less than a slow train for a journey of 600 km.
If the speed of the slow train is 10 km/hr less than that of the fast train,

then find the speeds of two trains.

HT-3
14, R YSHOT M R ? T FRU, YA W R F SRl @ aviw sifau) 8l
What is thermal pollution? Describe its reasons, effects and control

measures.

15. GHV-TEEAMTR Y 1§ ? TERAMAS GHSO &) Gergal § g9 i &
wfsran & qHFRT |
What is photochemical smog? Explain its system of formation with the

help of chemical equations.
_——




(9]

16, - fafereen ¥ & 2 ST Fafeeran, st fafern e e fafa
ﬁqﬁqﬁaml (8]

What is biodiversity? Define genetic diversity, species diversity and
ecological diversity.
WIS -4
Section-4
(W &t yrag-dr - 125, 2®%-10)
(39 @US | WAT-2 | FHer 2 v Awa/OR & w0 ¥ fqu 7 €

anaeff & 3 A HE 1 I T FA)
WT-2
12. f&U U UE-=E wE €T M@ 1 o1FF HIfaw wE A9 fTu T g & IW
HIELSE [10]
Study the following pie-chart and bar diagram, and answer the following
questions :
6 Tpeit | faenfui = favwa w1 faao, 6000 foenfei § @ yds @pa H W
g faamefi = 6000 farenfeiai =1 e
Percentage-wise distribution of students in 6 Number of boys in each school out of
different schools, Total number of students = 6000 6000 students
1400 ——
1300 -
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s
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[10]
” qac,@ﬁg?aﬁmﬁmﬁqﬁ%ﬂD%mﬁwﬁaﬁm
&1 g fedT €

What is the sum of the number of girls in School C, the number of
girls in School E and the number of boys in School D together?

(i) T} C F 79 forenfebal =t wem, wper B 9 ween fomfifal 2 <
@wEﬁmWMﬁﬁwmmm%?
What is the ratio of the number of boys in School C, the number
of girls in School B and the tota] number of students in School E?

(iii) WF%%WMH%#@@‘%E%WWMHﬁm
&1 3T e &2
What is the difference between the total number of students in
School F and the number of boys in School E?

(iv) a1 £ ®t gfeen foenfdai = den fog @a & $a faafda
& & TR 2
In which school the total number of students is equal to the number

of girls in School £?
@ug-5
Section-5
(3T =T eE-HHr- 175, k- 15)
(39 @WUT § WIMT-1 T 3 ¥ HITER &l 4 W9 A@ar/OR & wv ¥ fau e §)
angeff & WMT-19 3 ¥ @ 1-1 T I°T A7 e ¥1)
WIT- 1
17. Wadq & g9 &1 gRfog #ife ) fadt o 99 ¥ wedd fedt goda
e ¥ WaEdT 4 Fq = 82 fre feafedl o feg war & <du &1 3w

feFan STom 2 St w1 WO Gl e wifEg
(@) ¥R st

(b) fwdt AT =1 yvu-gw <dw

(c) Tost =R #1 ¥e-wme




(1]

Define the Law of Reflection. How reflection from curved surface is
different from reflection from the plane surface? Which type of mirror
will be used in the following situations? Support your answer with
reasons :

(a) Solar furnace
(b) Rear-view mirror of vehicle

(c) Headlight of car
3r4ar/OR
TS Il HI f ¥ ded ¥ gogmwu -
(@) ad 9Grol § e
(b) d Y ifae sraen
(c) TR aferr wdedit
(d) forea-smomers
(e) SiateeirsT Afirent 1 fmion
Discuss Halogen elements with reference to the following :

(@) Position in periodic table
(b) Physical state of elements
() Electron gain enthalpy
(d) Electronegativity
() Formation of interhalogen compounds

-3

0. g aum, 3 oo gt § @k A S SR H e Mford F i
o %2y it a1 T for@ER IR WHRRC

In how many categories, threatened species are classified in Red List of

[15]

LU.C.N.? Write the name of each category and explain them.

CT-04
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37gar/OR

g R Yo F1 ¥ 7 Iy amqfire yeH ¥ Ieyd a1 feareTd de
&1 g Hifeg |

What is solid waste management? Describe the object and functional

elements of the solid waste management.



